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Nome: Data: Punteggio: __
X —7¢ +10x=0 X+ 8¢ +16x=0

¥ —3x% —40x + 84 = 0 o2 +18x=0

C+7E - 18x=0 L+ —02x=0

8¢ — 9% — 648x + 729 = 0 X+ 23 —25x—50=0

X =127 +27x=0 X — 8> —36x+288 =0

www.snowmath.com


https://www.snowmath.com

Yt O P

Risolvere equazioni cubiche

Nome:

X —T7¢+10x=0
x=5,2,0

X =3 —40x+84=0
x=-6,7,2

X+ 7¢ —18x=0
x=2,-9,0

8 — 9x? — 648x+ 729 = 0
9

x=-,9,-9
8

X =127 +27x =0
x=3,9,0

Data: Punteggio: __

X+ 8¢ +16x=0
x=—4,—4,0

X +9¢° +18x =0
x=-6,-3,0

A+ —4x=0
x=-7,6,0

X+ 2 —25x—50=0
x=-2,-5.5

X — 8x” —36x+ 288 = 0
x=6,-6,8
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